RERE-AIVITRERRISOVTHEER A

M12/6EED BEHEES D L
1055
100Bq/kgZ B2 53 DO
BREHKE

No BT REH HEDIELE trL-134 tr5 L-137 AEE

Bqg. kg Ba. kg Ba kg
1 &I+t R5.12.7 4K BRHE9(<8.6) BREE9(<8.9) BRHEET
2 =ka7) R5.12.7 =SS! BREE9(<9.1) BRHE9(<8.6) BRHEEY
3 AT R5.12.7 =SS! BRHEE9(<9.6) BRHEE9(<9.7) - danhcac
4 JIHRHET R5.12.7 =SS! BREE9(<9.9) BRHEE3(<8.4) BREed
5 At R5.12.7 =SS! BREE9(<9.1) B®RHE9(<8.6) - danhcac
6 RIGH R5.12.7 =SS! BREE9(<8.7) BRHE9(<8.3) BREed
7 AT R5.12.7 4R BRHEE9(<8.3) B®RHE9(<8.3) BT
8 wBeh R5.12.7 =Sy BREE9(<8.5) BRHEE3(<8.1) BRHEET
9 =Tl R5.12.7 4R BRHEE9(<6.9) B®RHEE9(<6.7) BT
10 TR R5.12.7 =Sy BRHEEI(<10) BRHEE3(<7.8) BRHEET

BREEEICBTA2—REROEEE 9L :100Ba/ke(t>HL-134, £ L-13TDOEEE)




RERE-AIVITRERRISOVTHEER A

@12/1EED BEHEES D L
8@t
100Bq/kgZ B2 53 DO
BREHKE
No BT REH HEDIELE trL-134 tr5 L-137 AEE
Bqg. kg Ba. kg Ba kg
1 A+ h R5.12.8 =SS! BRHEE9(<8.9) BREET(<7.6) BHEEY
2 Hifth R5.12.8 =SS! BREE9(<94) BRHEEI(<7.4) BRHEEY
3 =i R5.12.8 =SS! BRHEE9(<9.0) B®RHEE9(<6.7) - danhcac
4 =1y R5.12.8 =Sy BRHET(<8.8) BRHE9(<6.9) BREed
5 =i R5.12.8 =SS! BRHEE9(<8.5) BRHEE9(<8.1) - danhcac
6 I5HT R5.12.8 =Sy BRHEEI(<11) BRHEE3(<7.3) BREed
7 FEAHEET R5.12.8 =Sy BREE9(<8.2) 12.3 12
8 it R5.12.8 =Sy BRHE9(<8.6) BRHEE3(<9.7) BEed

BREEEIZBT2—BEROEEE £ L:100Ba/kg(EH L-134, £ L-13TDOESEE)
HEEME: LI L1342 D L-13TDEEEIZDONTIE., B F 24 (LN LIHTEZMIEREAL-LD) TRELTLET,




RERE-AIVITRERRISOVTHEER A

@12/8LE D BEHEES D L
2&
100Bq. keZF{BZ 5L D0
BREHKE

No BT REH HEDIELE trL-134 tr5 L-137 AEE
Bqg. kg Ba. kg Ba kg

1 A= R5.12.8 =SS! BRHEEI(<8.1) BRHEH9(<55) BHEEY

2 T SERHT R5.12.8 =SS! BRHEEI (<) BRHE9(<7.9) BRHEEY

BRBEEEICBTA—BREBEROEEE 9L 100Bg/kg(> 9 L-134, 22 H L-13TDSE(E)




